DANCOVER®

Manual
for
Picnic Table & Bench
1,66 x 0,6m/1,5x0,3m

02-06-2022



Assembly instruction — bench

<|'1: LT M6 x50 | 8 pcs.
|"/-‘; :\I

’ Meé 8 pcs.

\_/
@ M6 8 pcs.
vk I : \ [laa A A A4
NGE7ptikiikiiailiiiy

TS M4 x 40 | 24 pcs.

m | O 0o ™| >

1 pcs.

A+B+C+E

N\




Assembly instruction — table

A M8 x 45 | 2 pcs.
B Ms 2pcs.

C M6 x 50 | 4 pcs.
D M6 4 pcs.
E Mé 4 pcs.

F SRR M4 x 40 | 14 pcs.
G

1 pcs.




DANCOVER®

Contact information

Austria

Poland

Belgium

Ireland

Croatia

-#F-E-

Portugal

S

=

Spain

.
- ':_1-?1- y

M.

Denmark

Estonia

=] Fr[E]
=

[l e =

SR
R
OO

Switzerland

-

|"|!""-al' a5
-:I:F'L'*-:.. T

Finland

France

o7

-

Norway

F =l .
L | 02t

For more information please visit: www.dancovershop.com




